
ĐỀ THI THỬ THPT QUỐC GIA MÔN ANH NĂM 2018 

TRƯỜNG THPT CHUYÊN NGOẠI NGỮ - HÀ NỘI 



[image: image1.jpg]Pé thi thir THPTQG THPT Chuyén Ngoai ngi Ha Noi — lin 1

Mark the letter A, B, C, or D on your answer sheet to indicate the correct answer to each of

the following questions
Question 1: My friend is good at mimicking people. He _____a great impression of Charlie
Chaplin.

A.made B.did C. took D. gave
Question 2: You can ask Matin anything about history. He actually has quite a good ____
for facts.

A.head B.understanding  C. knowledge D. ability
Question 3: His jokes seemed to _____ a treat with his audience, if their laughter was any
indication.

A. goalong B.goby C. gooff D. go down
Question 4: : It was such a sad film that we all were reduced. tears at the end.

A.with B. onto C.to D.into
Question 5: an emergency arise, call 911.

A. Should B.If c.will D. Were
Question 6: The baby can't even situp yet, ____stand and walk!

A.but for B. let alone C.all but D. rather than
Question 7: : 1 don’t think that everyone likes the way he makes fun, ____?

A.don't I B.dol C. don’t they D. do they
Question 8: Unfortunately, the injury may keep him out of football . He may never
play again.

A. for good B. now and then C.onceinawhile D, every soofien
Question 9: The two cars for sale were in poor condition, so I didn't buy

A.ncitherof them  B.citherof them  C. each of them D. none of them
Question 10: Tused to_____ reading comics, but now I've grown out of it.

A.ukeafancyto  B.keepaneyeon  C.getakickoutof  D.kick upa fuss about

Question 11: The evidence suggests that single fathers ____ more likely to work than
single mothers.

A. should be B. must be C.be D. are
Question 12: Little Deon: “This herb smells horrible, mommy!”

Mommy: . it will do you a power of good.”
A.Come what may ~ B. By the by C. What is more D. Be that as it may
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Question 13: 1t's not fair to put all the blame on him. He’s not the only one at fault.

A. He doesn't deserve to be blamed for everything as there were others involved.

B. He deserved to be punished. but the others don’t.

C. It wouldn' be right to punish those who, like him, were not involved.

D. Only the one who were involved should be punished.
Question 14: You will have to tell him about it in the end. The longer you put off doing so,
the harder it’s going to be.

A. You can never keep things secret for long, so the best is to tell him about it soon.

B. Surely it’s better to let him know about it now than wait until he finds out for himself.

C. He will have to be notified about it, and the sooner the better.

D. You can’t keep him in the dark about it forever, and telling him will get harder the longer
you wait
Mark the letter A, B, G, or D on your answer sheet to indicate the word that differs from the
other three in the position of primary stress in each of the following questions.
Question 15:  A.technique  B. gazelle C. canal D. compass
Question 16: . informative  B.preservative  C.mandatory D compulsory
Mark the letter A, B, C, or D on your answer sheet to indicate the word whose underlined
part differs from the other three in pronunciation in each of the following questions.
Question 17: A, smooth B. sunbath C. youth D. cloth
Question 18: . rough B. touchy C. southern D. coup

Mark the letter A, B, C, or D on your answer sheet to indicate the underlined part that
needs correction in each of the following questions.

Question 19: We had about ten people helping us carry our belongings to a yan parking
outside when there was a sudden crash which made us turn round to find the big mirror lying

in pieces on the ground.

A.ten people helping  B. van parking C. which made us tum round . lying in pieces
Question 20: You should take out insurance for your house from any possible damage.
Earthquakes sometimes oceur here.

A. take out B. for C. from D. oceur
Question 21:
from sleeping died afier two and a half weeks.

A. conducted B. University of ChicagoC. rats kept D. half weeks

in a famous experiment conducted at University of Chicago in 1983, rats kept
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The invention of the mobile phone has undoubtedly revolutionized the way people
communicate and influenced every aspect of our lives. The issue is whether this
technological innovation has done more harm than good.

In orderto (22)____ the question, we must first turn to the type of consumer. Presumably,
‘most parents buy mobile phones for their teenagers to track their whereabouts and ensure
their safety. We can also assume that most teenagers want mobile phones to avoid missing
out (23)____social contact. In this context, the advantages are clear. However, we cannot
deny the fact that text messages have been used by bullies to intimidate fellow students.
There is also (24)____ evidence that texting has affected literacy skills.

The ubiquitous use of the mobile phone has, (25)___ question, affected adult
consumers, too. What employee, on the way home from work, would be reluctant to answer
a call from their boss? Apparently, only 18% of s, according to a recent survey, are willing
o switch off our mobile phones once we’ve left the office.

Admittedly, mobile phones can be intrusive but there are obvious benefits to possessing one.
Personally speaking, they are invaluable when it comes to making social or business
arrangements at short (26)____. According to a recent survey, they also provide their
owners with a sense of security in emergency situations.

In conclusion, mobile phones do have their drawbacks, but these are outweighed by the

benefits. I would argue that it is not the tool that chooses its purpose, but the user.

Question 22 A.answer B. address C. remedy D... put right
Question23:  A.in B.to C.of D.on
Question 24 A.indisputable B arguable C.doubtless D, unhesitating
Question 25: A outof B. without C. beyond D. outside
Question 26 A. time B. notice C.term D. warning

Mark the letter A, B, C, or D on your answer sheet to indicate the most suitable response to

complete each of the following exchanges.

Question 27: - John: “Oh, I forgot my girlfriend's birthday last week.” - Anne: *
A. Not on your life B. So I guess you are in the doghouse again.
C. Sure, knock on wood. D. You really should get a life.

Question 28: - Porter: “I didn’t do too well on my final exams.” - Mary: J
A.Thats ashame!  B.Don'tmentionit! C. What a drag! ‘That will be the day!
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Question 29: The appeal was rejected by the committee, despite the fact that it had been
signed by over 5,000 people.

A. application B. petition C. permit D. form
Question 30: The children were full of beans today, looking forward to their field trip.

A.cating a lot B. hyperactive C. melancholy D. lively and in high spirits
Mark the letter A, B, C, or D on your answer sheet to indicate the word(s) OPPOSITE in
meaning to the underlined word(s) in each of the following questions.

Question 31: The device is very sophisticated and should only be operated by someone who
is familiar with it.

A.crude B. advanced C. makeshift D. archaic
Question 32: Relations between the two countries have improved considerably in the last
few years.

A. abolis B. demolish C. diminish D. deteriorated
Mark the letter A, B, C, or D on your answer sheet to indicate the sentence that is closest in
meaning to each of the following questions
Question 33: However much effort he put into it, he will never make a go of the business.

A. He's a failure as an a businessman even though he’s extremely hardworking.

B. No matter how hard he tries, he won’t ever turn that business into a going concern.

C. The success of the business will depend upon the amount of hard work he puts into it.

D. Unless he is willing to make more of an effort, the business s never likely to be a success.
Question 34: The last time I saw Peter was when I ran into him at the station on my way to
Glasgow.

A. I haven't seen Peter since a chance meeting with him at the station when I was setting off
for Glasgow

B. The last time I went to Glasgow, I happened to meet Peter at the station.

C. When I last saw Peter at the station when I was on my way to Glasgow, I ran after him.

D. 1 finally saw Peter at the station when I was on my way to Glasgow.

Question 35: We got caught in a traffic jam so we were among the last to arrive at the
cinema.

A. The traffic jam prevented us from getting to the cinema.

B. The traffic was so heavy that everybody arrived at the cinema late.

C. There was such a congestion on the road that nobody arrived at the cinema on time.
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Read the following passage and mark the letter A B, C, or D on your answer sheet to indicate
the correct answer to each of the questions
All foods contain water - cabbage and other leaf vegetables contain as much as 93% water,
potatoes and other root vegetables 80%, lean meat 75% and fish anything from 80% to 60%
depending on how fatty it is. If this water is removed, the activity of the bacteria which cause
food to go bad is checked.

Fruit is sun-dried in Asia Minor, Greece, Spain and ot her Mediterranean countries, and
The methods used vary, but in general the fruit

is spread out on trays in drying yards in the hot sun. In order to prevent darkening, pears,

also in California, South Africa and Australs

peaches and apricots are exposed to the fumes of buming sulphur before drying. Plums for
‘making prunes, and certain varieties of grapes for making raisins and currants, are dipped in
an alkaline solution in order to crack the skins of the fruit slightly and remove their wax
coating, so increasing the rate of drying,

Nowadays most foods are dried mechanically; the conventional method of such
dehydration is to put food in chambers through which hot air is blown at temperatures of
about 110°C at entry to about 45°C at exit. This is the usual method for drying such things as
vegetables, minced meat, and fish.

Liquids such as milk, coffee, tea, soups and eggs may be dried by pouring them over a
heated horizontal steel cylinder or by spraying them into a chamber through which a current
of hot air passes. In the first case, the dried material is scraped off the roller as a thin film
which is then broken up into small, though still relatively coarse flakes. In the second process
it falls to the bottom of the chamber as a fine powder. Where recognizable pieces of meat and
vegetables are required, as in soup, the ingredients are dried separately and then mixed.

Dried foods take up less room and weigh less than the same food packed in cans or frozen,
and they do not need to be stored in special conditions. For these reasons they are invaluable
to climbers, explorers and soldiers in battle, who have little storage space. They are also
popular with housewives because it takes so little time to cook them.

Question 36: What is the main idea of the passage?

A. Advantages of dried foods.

B. Water: the main component of food.

C. Mechanization of drying foods.

D. Different methods of drying foods.

Question 37: The word “checked” in the second paragraph is closest in meaning to
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Question 38: In the process of drying certain kinds of fruits, sulphur fumes help
A. remove their wax coating B. kill off bacteria
C. maintain their color D. crack their skin
Question 39: Nowadays the common method for drying vegetables and minced meatis .
A. spreading them out on trays in drying yards
B. putting them in chambers and blowing hot air through
C. dipping them in an alkaline solution
D. pouring them over a heated horizontal steel cylinder
Question 40: What does the word “which” in the fourth paragraph refer t0?
A. Vegetables B. Foods C. Things D. Chambers
Question 41: The final product of the process of drying liquids that uses the first method will
be

A. small flakes B. fine powder C. dried soup D. recognizable pieces
Question 42: According to the passage, dried foods are most useful for ____.

A. explorers who are underweight B. soldiers who are not in battle

C. people who are on the move D. housewives who have little storage space

Question 43: This passage is mainly .
A.argumentative  B. analytical C. informative D. fictional

Read the following passage and mark the letter A B, C, or D on your answer sheet o

indicate the correct answer 1o each of the questions

Very few people, groups, or governments oppose globalization in its entirety.
Instead, critics of globalization believe aspects of the way globalization operates should be
changed. The debate over globalization is about what the best rules are for governing the
global economy so that its advantages can grow while its problems can be solved.

On one side of this debate are those who stress the benefits of removing barriers to
international trade and investment, allowing capital to be alloeated more efficiently and
giving consumers greater freedom of choice. With free-market globalization, investment
funds can move unimpeded from the rich countries to the developing countries. Consumers
can benefit from cheaper products because reduced taxes make goods produced at low cost
from faraway places cheaper to buy. Producers of goods gain by selling to a wider market.
More competition keeps sellers on their toes and allows ideas and new technology to spread
and benefit others.



[image: image7.jpg]On the other side of the debate are critics who see neo-liberal policies as producing
greater poverty, inequality, social conflict, cultural destruction, and environmental damage.
They say that the most developed nations — the United States, Germany, and Japan —
succeeded not because of free trade but because of protectionism and subsidies. They argue
that the more recently successful economies of South Korea, Taiwan, and China all had strong
state-led development strategies that did not follow neo-liberalism. These critics think that
‘government encouragement of “infant industries”  that is, industries that are just beginning
to develop — enables a country to become internationally competitive.

Furthermore, those whao criticize the Washington Consensus suggest that the inflow
and outflow of money from speculative investors must be limited to prevent bubbles. These
bubbles are characterized by the rapid inflow of foreign funds that bid up domestic stock
‘markets and property values. When the economy cannot sustain such expectation, the bubbles
burst as investors panic and pull their money out of the country.

Protests by what is called the anti-globalization movement are seldom directed
against globalization itself but rather against abuses that harm the rights of workers and the
environment. The question raised by nongovernmental organizations and protesters at WTO
and IMF gatherings is whether globalization will result in a rise of living standards or a race
to the bottom as competition takes the form of lowering living standards and undermining
environmental regulations.

One of the key problems of the 21st century will be determining to what extent
‘markets should be regulated to promate fair competition, honest dealing, and fair distribution
of public goods on a global scale.

Question 44: Supporters of free-market globalization point out that
A. investment will be allocated only to rich countries
B. taxes that are paid on goods will be increased
C. there will be less competition among producers
D. consumers can benefit from cheaper products
Question 45: The word
A. distributed B. solved C. removed D. offered

llocated” in the passage mostly means

Question 46: The phrase “keeps sellers on their toes” in the passage mostly means
A. prevents sellers from selling new products B. forces sellers to go bare-footed
C. makes sellers responsive to any changes  D. allows sellers to stand on their own feet
Question 47: According to critics of globalization, several developed countries have become

rich because of
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C. their protectionism and subsidies D. their prevention of bubbles
Question 48: The word “undermining” in the passage mostly means

A. making less effective B. obeying C. observing D. making more effective
Question 49: Which of the following is NOT mentioned in the passage?

A. Critics believe the way globalization operates should be changed.

B. The anti-globalization movement was set up to end globalization.

C. Hardly anyone disapproves of globalization in its entirety.

D. Some Asian countries had strong state-led economic strategies.
Question 50: The debate over globalization is about how

At spread ideas and strategies for globalization

B. to govern the global economy for

C.10 use neo-liberal policies for the benefit of the rich countries

D. to terminate globalization in its entirety
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LOT GIAI CHI TIET

Question 1: Dip éin B
Kién thire:

Giii thich:

Ta ¢6 cum “do an impression of sb™: bit chudc ai, nhai diéu b cia ai

‘Tam dich: Ban t5i rit gioi bit chude moi ngudi. Ci it chude rit gidng Charlie Chaplin.
Dip in:B

Question 2: Dip fin A

Kién thire: Cum tir, tir vimg

Giii thich:
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‘Tam dich: Ban c6 thé hoi Matin moi thir vé lich sir. Ciu &y thit sy c6 kha ning ghi nhé 3t
ciic sy kién.

Dip dn:A

Question 3: Dip in D

Kién thire: Phrasal verb

G thich:

go along (v): tién trién, phat trién

20 by (v): trdi qua, qua di, phin dodn, lim theo

20 off (v): roi sin khéu, di vao
20 down (with sb) (
Tam dich: Néu tiéng c
due khin gid dén nhin.
Dip in:D

Question 4: Dip fin C
Kién thire:

: dige ai dén nhin (ra sao d6)

ia ho 14 ddu higu, thi nhimg ciu chuyén cuds cia anh dudmg nhur

‘wm tir, tir vyng
Gii thich:
Ta ¢6 cym “reduce sb to tears” = make sb cry: lim ai khéc

Tam dich: N6 thit 1 mgt by phim budn dén mirc vao phiit cudi tit ca ching t6i déu khéc.

Dip in:C
Question 5: Dip dn A
Kién thire: Cau diéu

G thic}
Ménh dé chinh chia dong tir la “call” vi thé & vé gia dinh khong thé ding Were hay Wil
dap an C, D loai Chii ngi trong vé gia dinh 14 s4 it, tuy nhién déng tir lai & dang nguyén thé

(arise), vi thé chi ¢6 kha nfing ta diing Should. sau Should ding dong tir nguyén thé.
‘Tam dich: Néu ¢6 tinh hudng khin cip xay ra, goi 911.

Dip in:A

Question 6: Dip din B

Kién thire: Cum tir, tir vimg

Giii thic}
but for: nhi ¢6, néu khong ¢6 all but: gin nhu, hiu nhu, sujt
let alone: chit dimg n6i dén, hubng chi la rather than: thi..con hon, thich hon

Tam dich: Dira bé con chua thé ngdi dugc niva 14, hudng chi 1a dimg va di!
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Question 7: Dip in D
Kién thire:
G thich:

‘au hoi dudi

Néu trong céu c6 I+ think/suppose/feel.... (that) -+ ménh d& phy, thi cu hoi dudi duge chia
theo ménh dé d6
Trong ciu ¢6 “everyone” thi ciu hoi dudi ta ding dai tir “they” Ménh dé chinh ¢ “not” (1

don’t think) vi thé ciing tinh nhw ménh dé phu, do d6 khi viét cdu hoi dudi theo ménh dé phu

ta diing trg ddng tir “do” chir khong diing “don’t”
‘Tam dich: Toi khong nghi moi ngudi thich cich anh ta néi disa, phii viy khong?
Dip in: D

Question 8: Dip fin A

Kién thire: Cum tir, tir vimg

Gidi thich:

for good = permanently: mai mi
now and then = sometimes: thinh thoing

once in a while = occasionally: thinh thoang

every so often = occasionally; sometimes: thinh thoang

Tam dich: Thit khong may, chin thuong ¢ thé khién anh dy tich khoi bong da mai mai.
Anh dy c6 thé khong bao gis choi duge nira.

Dip in:A

Question 9: Dip fin B

Kién thire: Tir ving

G thich:
neither of: khong phii trong sé ching => logi, ta khong phi dinh 2 lin. Ding s¢ phi 13 1
bought neither of them”

either of: mgt trong hai, hodc cdi nay hodic cdi kia each of: méi cai => loai vi khéng hop vé

nghia

Phia truc di ¢6 ph dinh nén ta khong thé dimg “none” nita => D logi

‘Tam dich: Hai chiéc xe dang giam gid déu chit lugng kém, vi thé t5i khong mua cdi nao hét.
Dip in:B

Question 10: Dip fin C

Kién thire: Cum tir, tir vimg

Gidi thich:
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